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QUESTION 1

ABC Company maintains two Hadoop clusters, one for test and one for production. One of the developers wants to copy
a data file from the test to the production environment. 

Which two are possible options to accomplish this? 

A. Use Flume to ingest the file again and deliver it to production. 

B. Back up the file to tape and restore it to the production cluster. 

C. Use an FTP command to copy files between the test and production environments. 

D. Use the hdfs dfs -cp command to copy the file from test to production. 

Correct Answer: CD 

 

 

QUESTION 2

Which can you add more of to scale an Event Hub Cloud Service Topic? 

A. Zookeeper nodes 

B. Kafka brokers 

C. Partitions 

D. Big data nodes 

Correct Answer: C 

Reference: https://docs.oracle.com/en/cloud/paas/event-hub-cloud/admin-guide/scaling-topic.html 

 

QUESTION 3

You execute the command hdfs dfs -is to view the directory listing on the Edge/Gateway node in a secured 

cluster, but get an error. You were able to execute the same command successfully 24 hours ago. No 

changes have been made to the user or the infrastructure. 

How do you fix the problem? 

A. You need to obtain a valid Kerberos ticket by executing the KINIT command. 

B. You need to reboot the Hadoop cluster to reinstate access to users. 

C. A valid Kerberos ticket exists but you need to initialize it using the KINIT command. 
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D. You are on wrong node. The hdfs dfs -is command can only be executed from the Name Node. 

Correct Answer: A 

 

 

QUESTION 4

What does Schema On Read represent? 

A. Ingest all data and create structure per query requirements 

B. Create table structure, ingest data and query 

C. In-memory algorithm that defines the schema on the data 

D. Specialized schema optimized for read 

Correct Answer: B 

 

QUESTION 5

When you create a cluster with Security Setup enabled, HDFS Transparent Encryption is enabled on the cluster, and
MIT Kerberos, Sentry, Network Firewall, Network Encryption, and Auditing are also enabled on the cluster. 

Which two principals are created as part of the Kerberos configuration? 

A. hdfs/clustername@BDACLOUDSERVICE.ORACLE.COM 

B. oracle/clustername@BDCSCLOUDSERVICE.ORACLE.COM 

C. oracle/clustername@BDACLOUDSERVICE.ORACLE.COM 

D. hdfs/clustername@BDCSCLOUDSERVICE.ORACLE.COM 

Correct Answer: AC 

Reference: https://docs.oracle.com/cloud-machine/latest/bigdatacm/CSBDM/GUID-16649C5A-2C884E75-809A-
BBF8DE250EA3.htm#CSBDM-GUID-16649C5A-2C88-4E75-809A-BBF8DE250EA3 

 

QUESTION 6

Which function is NOT a part of Kerberos? 

A. Kerberos offers Strong Authentication features. 

B. Kerberos authorizes SQL Access for Hive and Impala. 

C. Kerberos builds on symmetric key cryptography and requires a trusted third party. 

D. Kerberos works on the basis of tickets. 
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Correct Answer: B 

 

QUESTION 7

As the Big Data Cloud Service Administrator, you need to access one of the cluster nodes. Using secure shell, what are
the two things you will need in order to access the node? 

A. Name of the cluster node 

B. Private ssh key pair 

C. Name of the service instance 

D. IP Address of the cluster node 

E. Public ssh key pair 

Correct Answer: BD 

Reference: https://docs.oracle.com/en/cloud/paas/big-data-cloud/csbdi/connect-cluster-node-secure-
shellssh.html#GUID-29C53AFA-66ED-4649-9A3B-2B5480EC5B53 

 

QUESTION 8

You have data in large files you need to copy from your Hadoop HDFS to other storage providers. You decided to use
the Oracle Big Data Cloud Service distributed copy utility odcp. 

As odcp is compatible with Cloudera Distribution Including Apache Hadoop, which four are supported when copying
files? 

A. Secure WebHDFS (SWebHDFS) 

B. Apache Hadoop Distributed File Service (HDFS) 

C. Apache Flume 

D. Hypertext Transfer Protocol (HTTP) 

E. Oracle Cloud Infrastructure Object Storage 

F. Apache Sqoop 

Correct Answer: ABDE 

Reference: https://docs.oracle.com/en/cloud/paas/big-data-cloud/csbdi/copy-data-
odcp.html#GUID4049DB4F-2E9A-4050-AB6F-B8F99918059F 

 

QUESTION 9

In which use case Event Hub Cloud Service (Apache Kafka) CANNOT be used? 
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A. as a data pipeline solution for big data 

B. for Data Integration for streaming data 

C. as a relational data store 

D. for application development with micro services 

Correct Answer: A 

 

QUESTION 10

On which open-source processing engine is Oracle Big Data Cloud (BDC) Strategy based on? 

A. Spark 

B. Apache Flink Scalable Batch and Stream Data Processing 

C. Apache Apex 

D. Apache Storm 

Correct Answer: A 
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